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# Sequence of length 8

how many
have exactly three

0's
,

three I's ,
and two 2's

0

-
x 211028!

wer :
-
*1 : Pick where --------

the three O's go .

#ways=

15)= I
ooo

76. 5 !

6. 5 !
-

S

-

I-11
-

11
-

2: Pick where

the three I's go . I



13) = st = 10

I-
!"I

11021212

(2) = 1

-

Answer = 56 - 10 . 1 = 61



2
⑬ A coin is tossed

20 times .

Cal What
is the probability

that

at least I
heads occurs ?

(b) What
is the probabilityheads occur ?

that
at
most 3

-

tion:
sample space size

=
2

= 1
,
048
,
576

(a) Want : P)> I heads occuring)
=1 - P(<2 heads occuring)
= I - P(rocking) - (insuring
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↑

-
all tails I

20 choices

where the
head can go⑧and the restare fail

(2) = 20
1 20 of these

=l - 25 -z
-

ChI Want :

P) =3 heads occuring)
=Pickets) +P(Yenduring
+Plant" urins) + 4 (nitreuring
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2
⑪ Roll ten

6-sided die .

Probability
exactly one

Y
,
exactly

the other three
rolls

Six S's
,

we anything
other than

4's and 5's

-x:
1111111553 I-

Go
sample space

size=

=

60
,
466
,
176

#

of sequences we want
to count is :

minet
--
---sepl: Put

where
4 yous ,

(i) = 10 I



S2
:

Now I S -I - E 1 -
put the six

S's in

(2)= I6 ! 3 !

=
9,7 = 84
6
-

&3 : The

remaining
three -= I ! I!

spots can be I ↑ R ↑
1, 2 , 3 ,

or 6
, 4 choices Y choices choices

#ways= 4 , 4 . 4

= 646
- 1997



# ⑯ Dealt Scands
from S2-cand deck

⑭
e

You know don't
know

-

sample space size = (52-3) = ( )
49 !
I-

-

48
- (6)

2 : 47 !
-



(a) What's the chances the other

two conds are clubs
so

you have a flush ?

abs remove 29, 394 , 4
*

4e
10 . 9

I
13 -

3) = (2) =i =
-

2

E = 45

answer = 6

= 0 .
03826

/-



(b) odds you get straight

but not straight flush
?

# of- Ws

rights
these

o - 4 . 4 = 16.⑭E

⑭Y = 4 - 4 = 16

WTotal # straights
- It'

tflushes

Sa⑲Ga24



Answer - Es


